
SQ² Snare Drums                   
with steel hoop

SQ² Snare Drums 
with Single - Lugs

No replacement,   
please ask your
local dealer

SQ² Snare Drum                   
with die - cast hoop

only for 14“ 
No replacement,   
please ask your
local dealer

No replacement,   
please ask your
local dealer

190 011 01

4 pcs / pack



Lug complete 

190 341 01  chrome

190 341 05  gold

190 341 07  aranja

190 342 01

each 2 pcs / pack

190 269 01   

Torx – screw

ø5x13

20 pcs / pack  

for Vintage shell

for Thin shell

for Medium shell

for Acrylic shell 

for Heavy shell

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



190 335 01  chrome
190 335 05  gold
190 335 07  aranja

Shell - Depth

x5“ / x5 ½“  
60mm

x6“ / x6 ½“  70mm
190 336 01  chrome                         
190 336 05  gold                          

LengthNo.                  

Square head screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

70mm

56mm

190 336 05  gold                          
190 336 07  aranja

190 255 01  chrome
190 255 05  gold
190 255 07  aranja



190 376 01  chrome
190 376 05  gold
190 376 07  aranja

Shell - Depth

x5“ / x5 ½“  60mm

x6“ / x6 ½“  70mm
190 377 01  chrome                         
190 377 05  gold                          

LengthNo.                  

Slotted screw

6 pcs / pack

x6“ / x6 ½“  

x7“ / x7 ½“ / x8“

70mm

56mm

190 377 05  gold                          
190 377 07  aranja

190 343 01  chrome                         
190 343 05  gold                          
190 343 07  aranja



Badge / Logo,  chrome   No. 190 344 01
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  gold        No. 190 344 05
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)

Badge / Logo,  aranja     No. 190 344 07
(incl. 4 pcs screw M3x7 and 4 pcs screw M3x10)



Snare Strainer complete

Snare Butt complete

190 323 01  chrome

190 323 05  gold

190 323 07  aranja

190 322 01 chrome 

190 322 05  gold

190 322 07 aranja

190 276 01  chrome

190 276 05  gold

190 276 07 aranja

190 276 01  chrome

190 276 05  gold

190 276 07 aranja

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  



Snare Butt complete

190 371 01  chrome

190 371 05  gold

190 371 07  aranja

Snare Strainer complete

190 370 01 chrome 

190 370 05  gold

190 370 07 aranja

190 270 01   

Torx – screw

ø5x16

20 pcs / pack  

190 372 01  chrome

190 372 05  gold

190 372 07 aranja

190 372 01  chrome

190 372 05  gold

190 372 07 aranja



Drum steel hoop for batter side

10“   6 Rods    145 941 46   chrome
10“   6 Rods    190 124 05   gold
10“   6 Rods    190 124 07   aranja

12“   8 Rods    190 118 01   chrome
12“   8 Rods    190 118 05   gold
12“   8 Rods    190 118 07   aranja 

13“   8 Rods    190 120 01   chrome 
13“   8 Rods    190 120 05   gold
13“   8 Rods    190 120 07   aranja

14“  10 Rods    190 122 01   chrome
14“  10 Rods    190 122 05   gold
14“  10 Rods    190 122 07   aranja

Drum steel hoop for resonance side

10“   6 Rods    145 941 47   chrome
10“   6 Rods    190 125 05   gold
10“   6 Rods    190 125 07   aranja

12“   8 Rods    190 119 01   chrome
12“   8 Rods    190 119 05   gold
12“   8 Rods    190 119 07   aranja 

13“   8 Rods    190 121 01   chrome 
13“   8 Rods    190 121 05   gold
13“   8 Rods    190 121 07   aranja

14“  10 Rods    190 123 01   chrome
14“  10 Rods    190 123 05   gold
14“  10 Rods    190 123 07   aranja



Die-cast hoop for batter side

only for 14“ Snare Drum

190 003 01  chrome

190 003 05  gold

190 003 07  aranja

190 479 01  chrome

190 479 05  gold

190 479 07  aranja
Die-cast hoop for resonance side

only for 14“ Snare Drum


